EQUIVARIANT COHOMOLOGY IN ALGEBRAIC GEOMETRY LECTURE FIFTEEN: CHEVALLEY'S FORMULA, LINE BUNDLES, DUALITY

WILLIAM FULTON NOTES BY DAVE ANDERSON

1. Chevalley's formula

In the equivariant setting, Chevalley's formula computes the product of a divisor class $y(s_{\alpha})$, for α a simple root, and a general class y(v), for $v \in W$. This will involve classes y(w), for w = v, and for $v \leq w$ with $\ell(w) = \ell(v) + 1$. In the latter case, such w can be written uniquely in the form $w = v s_{\beta}$, for some positive root β , with $\gamma = v^{-1}(\beta)$ also positive, and $w = s_{\gamma} v$. (It is a general fact — see Section 2 below for more — that $v(R^-) \cap R^+$ consists of $\ell(v)$ roots, and $w(R^-) \cap R^+$ has one more root, which is γ .) Let $n_{\beta\alpha}$ be the coefficient of α when β is written as a sum of positive roots. Set

$$c_{\alpha}(v,w) = n_{\beta\alpha} = \frac{(\alpha,\alpha)}{(\beta,\beta)}$$

We have given an explicit formula for $y(s_{\alpha})|_{v}$ in §14.4. We need a basic fact:

Lemma 1.1. $y(v)|_v = \prod_{\beta \in v(R^-) \cap R^+} \beta.$

Proof. Since p(v) is a nonsingular point of Y(v), we know (by §3, Proposition 5.1) that $y(v)|_v$ is the equivariant top Chern class of the normal space $N_{p(v)}$ to Y(v) in X at p(v), i.e., $c_{2\ell(v)}^T(N_{p(v)})$. The tangent space to Y(v) at p(v) has weights $\beta \in v(R^-) \cap R^-$, and the tangent space to X at p(v) has weights $\beta \in v(R^-)$; therefore $N_{p(v)}$ has the complementary weights, $v(R^-) \cap R^+$. \Box

Proposition 1.2.
$$y(s_{\alpha}) \cdot y(v) = \sum_{w=v \, s_{\beta}} c_{\alpha}(v, w) \, y(w) + (y(s_{\alpha})|_v) \, y(v).$$

Proof. We know the terms appearing on the RHS consist of y(w) with $v \le w$ and $\ell(w) \le \ell(v) + 1$, which are just the terms displayed. Restricting to p(v), we get

$$y(s_{\alpha})|_{v} y(v)|_{v} = 0 + C y(v)|_{v},$$

where C is the coefficient of y(v) in $y(s_{\alpha}) \cdot y(v)$. Since $y(v)|_{v}$ is not zero in Λ , the coefficient C must be equal to $y(s_{\alpha})|_{v}$.

Date: June 9, 2008.

The other coefficients are "classical", but it is easier to compute them equivariantly (see [Ful-Woo04]). By Poincaré duality, the coefficient of y(w) is

$$\rho_*(y(s_\alpha) \cdot y(v) \cdot x(w))$$

in Λ .

Now Y(v) and X(w) meet transversally in the *T*-invariant curve *E* that contains the fixed points p(v) and p(w). This follows readily from the fact the Schubert varieties are nonsingular in codimension one. (This is part of the general fact that Schubert varieties are normal, but an elementary proof is given in [Che94].) Then, since $T_{p(v)}X(v) \subset T_{p(v)}X(w)$ is codimension 1, and it meets $T_{p(v)}Y(v)$ transversally, it follows that $T_{p(v)}X(w) \cap T_{p(v)}Y(v)$ has dimension 1, and similarly for $T_{p(w)}X(w) \cap T_{p(w)}Y(v)$.

It is now easy to find the weight λ of T acting on $T_{p(w)}E$, with the weight $-\lambda$ acting on $T_{p(v)}E$. This is the unique weight that occurs in $T_{p(w)}X(w)$ (so $\lambda \in w(R^-) \cap R^+$), such that $-\lambda$ occurs in $T_{p(v)}Y(v)$ (so $-\lambda \in v(R^-) \cap R^-$, i.e., $\lambda \in v(R^+) \cap R^+$). This is the weight $\gamma = v^{-1}\beta$ described earlier, so $w = s_{\gamma}v = v s_{\beta}$.

By the transversality of the intersection, we have

$$y(v) \cdot x(w) = [Y(v)]^T \cdot [X(w)]^T = [E]^T.$$

Let $\iota: E \hookrightarrow X$ be the inclusion, and let η be the projection from E to a point. Then

$$\rho_*(y(s_\alpha) \cdot y(v) \cdot x(w)) = \rho_*(y(s_\alpha) \cdot \iota_*(1))$$
$$= \rho_*(\iota_*(\iota^*(y(s_\alpha))))$$
$$= \eta_*(\iota^*(y(s_\alpha))).$$

Now we use the localization formula to compute this classical push-forward. Note that the restriction of $\iota^*(y(s_\alpha))$ to p(w) is $y(s_\alpha)|_w$, and its restriction to p(v) is $y(s_\alpha)|_v$, so

$$\rho_*(y(s_\alpha) \cdot y(v) \cdot x(w)) = \frac{y(s_\alpha)|_w - y(s_\alpha)|_v}{\gamma}$$

We know that $y(s_{\alpha})|_{w} = \varpi_{\alpha} - w(\varpi_{\alpha})$, and $y(s_{\alpha})|_{v} = \varpi_{\alpha} - v(\varpi_{\alpha})$, where ϖ_{α} is the fundamental weight, so

$$\begin{aligned} y(s_{\alpha})|_{w} - y(s_{\alpha})|_{v} &= v(\varpi_{\alpha}) - w(\varpi_{\alpha}) \\ &= v(\varpi_{\alpha}) - s_{\gamma}v(\varpi_{\alpha}) \\ &= 2\frac{(v(\varpi_{\alpha}), \gamma)}{(\gamma, \gamma)}\gamma. \end{aligned}$$

Hence the required coefficient is $2(v(\varpi_{\alpha}), \gamma)/(\gamma, \gamma) = 2(\varpi_{\alpha}, \beta)/(\beta, \beta)$, since $v(\beta) = \gamma$ and (,) is W-invariant.

The fundamental weight ϖ_{α} is characterized by the property that $2(\varpi_{\alpha}, \alpha) = (\alpha, \alpha)$ and $2(\varpi_{\alpha}, \alpha') = 0$ for any simple root $\alpha' \neq \alpha$; thus $s_{\alpha'}(\varpi_{\alpha}) =$

 $\varpi_{\alpha} - \delta_{\alpha\alpha'}\alpha'$. Hence $2(\varpi_{\alpha}, \beta) = 2n_{\beta\alpha}(\varpi_{\alpha}, \alpha) = n_{\beta\alpha}(\alpha, \alpha)$, giving the coefficient

$$n_{\beta\alpha}\frac{(\alpha,\alpha)}{(\beta,\beta)} = c_{\alpha}(v,w)$$

as required.

Exercise 1.3. Prove the formula

$$x(w_0 \, s_\alpha) \cdot x(w) = \sum c_\alpha(v, w) \, x(v) + (x(w_0 \, s_\alpha)|_w) \, x(w),$$

with the sum over $v \leq w$ with $\ell(v) = \ell(w) + 1$. (Solution: With the notation of the preceding proof, the coefficient of x(v) is $\eta_*\iota^*(x(w_0 s_\alpha)) = (x(w_0 s_\alpha)|_w - x(w_0 s_\alpha)|_v)/\gamma$. Now use Lemma 4.3(2) from Lecture 14 to get $x(w_0 s_\alpha)|_w - x(w_0 s_\alpha)|_v = v(\varpi_\alpha) - w(\varpi_\alpha)$; the proof concludes as before.)

Exercise 1.4 (cf. [Ful-Woo04]). Prove Chevalley's formula on G/P, for $P = P_J$: For $\alpha \in \mathbb{R}^+ \setminus J$, and $v \in W$ a minimal representative for $[v] \in W/W_P$,

$$y[s_{\alpha}] \cdot y[v] = \sum c_{\alpha}(v, w)y[w] + (y(s_{\alpha})|_v)y[v],$$

the sum over $w \ge v$ with $\ell(w) = \ell(v) + 1$ and $[w] \ne [v]$. (Solution: Apply $(\pi_J)^*$. Note that for $w = v s_\beta$, $v^{-1}(R^-) \cap R_J^+ = \emptyset$, and $w^{-1}(R^-) \cap R^+ = v^{-1}(R^-) \cup \{v^{-1}(\beta)\}$, so $w^{-1}(R^-) \cap R_J^+ = \emptyset$. Therefore w is a minimal representative for [w].)

Remark 1.5. The fact that $y(s_{\alpha})|_{w} - y(s_{\alpha})|_{v} = v(\varpi_{\alpha}) - w(\varpi_{\alpha})$ is equivalent to the formula $c_{1}^{T}(L(-\varpi_{\alpha})) = y(s_{\alpha}) + c$, for some $c \in \Lambda^{1}$. This formula can be proved by restricting both sides to the curves $E' = X(s_{\alpha'})$, for $\alpha' \in R^{+}$, which join p(id) to $p(s_{\alpha'})$, and then pushing forward to a point. The right side gives $\delta_{\alpha\alpha'}$; the left gives $(-\varpi_{\alpha} + s_{\alpha'}(\varpi_{\alpha}))/\alpha' = \delta_{\alpha\alpha'}$. (See [Ful-Woo04].)

 $\mathbf{2}$

Proposition 2.1. The functions $\psi_v : W \to \Lambda$ (or $W \to Q$) given by $\psi_v(w) = y(v)|_w$ satisfy and are uniquely determined by the following properties:

(1)
$$\psi_v(w) = 0$$
 unless $v \le w$.
(2) $\psi_v(v) = \prod_{\beta \in v(R^-) \cap R^+} \beta$.
(3) $(A_\alpha \psi_v) = \begin{cases} \psi_{v \, s_\alpha} & \text{if } \ell(v \, s_\alpha) < \ell(v); \\ 0 & \text{if } \ell(v \, s_\alpha) > \ell(v). \end{cases}$

Proof. Property (1) holds since $y(v)|_w = 0$ for $p(w) \notin Y(v)$. We have seen (2), and (3) follows from the fact that $D_{\alpha}y(v)$ is $y(v s_{\alpha})$ or 0 according as $\ell(v s_{\alpha}) < \ell(v)$ or $\ell(v s_{\alpha}) > \ell(v)$.

To see that these properties characterize ψ_v , note that the function ψ_{w_0} is determined by (1) and (2). Any other $w \in W$ can be written as $w = w_0 s_{\alpha_1} \cdots s_{\alpha_\ell}$, with $\ell(w) = \ell(w_0) - \ell$, so ψ_w is determined from ψ_{w_0} and Property (3).

Remark 2.2. These functions ψ_v are denoted ξ^v in the literature stemming from [Kos-Kum86]; cf. [Bil97]. Note that (2) is only needed for $v = w_0$.

Billey has given an explicit formula for these values $(\psi_v)(w)$. To express it, we need a basic fact about roots. If $\alpha_1 \cdots \alpha_\ell$ is a reduced word for $w \in W$, then the $\ell(w)$ roots in $w(R^-) \cap R^+$ get numbered:

$$w(R^-) \cap R^+ = \{\beta_1, \dots, \beta_\ell\},\$$

where $\beta_1 = \alpha_1$, and $\beta_i = s_{\alpha_1} s_{\alpha_2} \cdots s_{\alpha_{i-1}}(\alpha_i)$. (See [Bou81, VI §1.6], or [Hum90, p. 14].)

Proposition 2.3 ([Bil97]). For any $v, w \in W$, with reduced word chosen for w, we have

(1)
$$y(v)|_w = \sum \beta_{j_1} \beta_{j_2} \cdots \beta_{j_k},$$

the sum over all subsets $\{j_1 < \cdots < j_k\}$ of $\{1, \ldots, \ell\}$ such that $\alpha_{j_1} \cdots \alpha_{j_k}$ is a reduced word for v.

Billey proves that the right side satisfies the conditions (1), (2), and (3) of Proposition 2.1, with (1) and (2) being clear. Property (3) is also clear if $\alpha_{\ell} = \alpha$, so the essential point is to prove that the right side of the formula is independent of the choice of a reduced decomposition of w. For this, she uses the *nil-Coxeter algebra*, which is generated over Λ by noncommuting variables u_{α} , one for each simple root, with relations $u_{\alpha}^2 = 0$, and $(u_{\alpha}u_{\beta})^m = (u_{\beta}u_{\alpha})^m$ if $(s_{\alpha}s_{\beta})^m = (s_{\beta}s_{\alpha})^m$ in W. This is free over Λ , with basis $\{u_w\}_{w\in W}$, where $u_w = u_{\alpha_1} \cdots u_{\alpha_{\ell}}$ for any reduced word $\alpha_1 \cdots \alpha_{\ell}$ for w. Following ideas of Yang-Baxter and Fomin-Kirillov, set

$$\mathfrak{R}_w = (1 + \beta_1 u_{\alpha_1})(1 + \beta_2 u_{\alpha_2}) \cdots (1 + \beta_\ell u_{\alpha_\ell}),$$

with $\beta_1, \ldots, \beta_\ell$ defined as above. Billey [Bil97] and Stembridge [Ste93] show that \mathfrak{R}_w is independent of the choice of reduced word. The coefficient of u_v in \mathfrak{R}_w is exactly the RHS of (1). Note that if $\ell(w s_\alpha) < \ell(w)$, then $\mathfrak{R}_w =$ $\mathfrak{R}_{w s_\alpha} \cdot (1 - w(\alpha)u_\alpha)$, and if $\ell(w s_\alpha) > \ell(w)$, then $\mathfrak{R}_{w s_\alpha} = \mathfrak{R}_w \cdot (1 + w(\alpha)u_\alpha)$. Property (3) is equivalent to these identities.

Remark 2.4. Willems [Wil04] proves this formula by using the Bott tower, which is an iteration of the construction of the correspondences we used to calculate the operators D_v .

Remark 2.5. This gives another expression for $y(s_{\alpha})|_{w}$, as the sum of those β_{i} for which $\alpha_{i} = \alpha$. It is not immediately obvious that this is equal to the formula $y(s_{\alpha})|_{w} = \varpi_{\alpha} - w(\varpi_{\alpha})$ we found earlier. The latter formula may be simpler to use. For example, with the usual numberings in type A_{n} , for $\alpha = \alpha_{1}$ the first simple root, and $w \in W = S_{n+1}$, we have

$$\varpi_{\alpha} - w(\varpi_{\alpha}) = \alpha_1 + \dots + \alpha_{w(1)-1},$$

which does not require finding a reduced expression for w.

Exercise 2.6. Check that the two formulas agree; i.e., for $\alpha_1 \cdots \alpha_\ell$ a reduced word for w,

$$\varpi_{\alpha} - w(\varpi_{\alpha}) = \sum_{\alpha_i = \alpha} s_{\alpha_1} \cdots s_{\alpha_{i-1}}(\alpha).$$

(Hint/solution: use induction on $\ell(w)$. It is obvious for w = id. Suppose equality is known for w, and $\ell(ws_{\beta}) = \ell(w) + 1$. If $\beta \neq \alpha$, then the RHS's are clearly equal for w and ws_{β} , and since $w(\varpi_{\alpha}) = ws_{\beta}(\varpi_{\alpha})$, so are the LHS's. If $\beta = \alpha$, then the difference of the RHS's is $w(\alpha)$, while the difference of the LHS's is $w(\varpi_{\alpha}) - ws_{\alpha}(\varpi_{\alpha}) = w(\alpha)$.)

Remark 2.7. Kostant and Kumar construct the functions ξ^v in F(W, Q) as duals to elements x_v in the *twisted* group algebra Q[W] (with multiplication given by $qw \cdot q'w' = qw(q')ww'$); for a reduced decomposition $s_{\alpha_1} \cdots s_{\alpha_\ell}$ for $v, x_v = x_{s_{\alpha_1}} \cdots x_{s_{\alpha_\ell}}$, where

$$x_{s_{\alpha}} = \frac{1}{\alpha} s_{\alpha} - \frac{1}{\alpha}.$$

These are independent of choice. Such calculations can also be used to show that Billey's formula is independent of choice (see [Kum02, §11.1.10]).

Remark 2.8. Billey's formula shows that $y(v)|_w$ is nonzero if and only if $v \leq w$, i.e., $p(w) \in Y(v)$. In general, however, it is not true that $[Y]^T|_p \neq 0$ for an isolated *T*-fixed point *p* in a singular *T*-variety *Y* in a smooth *T*-variety *X*, as the following example shows.

Example 2.9 (Cf. [Bri00]). Let $T = (\mathbb{C}^*)^2$ act on $X = \mathbb{P}^4$ by

$$(z_1, z_2) \cdot [x_1 : \dots : x_5] = [x_1 : z_1 x_2 : z_1^{-1} x_3 : z_2 x_4 : z_2^{-1} x_5].$$

Let $Y \subset X$ be the hypersurface defined by the equation $X_2 X_3 - X_4 X_5 = 0$, and let $p = [1:0:\cdots:0]$ be the singular point of Y. Then $[Y]^T|_p = 0$. Indeed, Y = Zeroes(s), where s is a T-invariant section of $\mathcal{O}(2)$. If $\zeta = c_1^T(\mathcal{O}(1))$, then $[Y]^T = 2\zeta$, and

$$H_T^* \mathbb{P}^4 = \Lambda[\zeta] / (\zeta(\zeta + t_1)(\zeta - t_1)(\zeta + t_2)(\zeta - t_2)),$$

so $\zeta \mapsto (0, -t_1, t_1, -t_2, t_2)$ in $H_T^* (\mathbb{P}^4)^T$.

Remark 2.10. There is a long history of investigating when a *T*-fixed point p(v) is a singular point on a Schubert variety Y(w), for $w \leq v$ (or on X(w), $v \leq w$). It is a necessary condition that the restriction $y(w)|_v$ be a product of $\ell(w)$ roots (the weights of *T* on the normal space to Y(w) at p(v)). Formulas for these $y(w)|_v$ can be useful for this study; see [Bri98] and [Bil-Lak00].

3. Line bundles

Recall the homomorphism $b : \Lambda \to H_T^*X$ of graded rings, for X = G/B, determined by taking a character λ to $c_1^T(L(\lambda))$. We want to compute $D_{\alpha}b(P)$ for $P \in \Lambda$.

Recall the classical divided difference operators on Λ . For a simple root $\alpha, \partial_{\alpha} : \Lambda \to \Lambda$ is defined by

$$\partial_{\alpha}(P) = \frac{s_{\alpha}(P) - P}{\alpha},$$

where $s_{\alpha}(P)$ is defined by the action of W on $\Lambda = \operatorname{Sym}^{\bullet} M$ coming from the action on M described in Section 14.1.

The following proposition, in terms of operators and functions, appears in [Ara86]:

Proposition 3.1. For all simple roots α , $D_{\alpha}b(P) = b(\partial_{\alpha}P)$.

Since b is an injection, the classical fact (see [Ber-Gel-Gel73], [Dem74]) that the ∂_{α} satisfy the usual relations follows:

- $\partial_{\alpha_1} \circ \cdots \circ \partial_{\alpha_\ell} = 0$ if $\ell(s_{\alpha_1} \cdots s_{\alpha_\ell}) < \ell$; $\partial_v = \partial_{\alpha_1} \circ \cdots \circ \partial_{\alpha_\ell}$ is independent of the choice of reduced word $\alpha_1 \cdots \alpha_\ell$ for v; and
- $\partial_u \circ \partial_v = \partial_{uv}$ if $\ell(uv) = \ell(u) + \ell(v)$, and is 0 otherwise.

Proof. To show that the left square in the diagram

$$\begin{array}{ccc} \Lambda & \stackrel{b}{\longrightarrow} & H_T^*X \hookrightarrow F(W,Q) \\ \partial_\alpha & & & \downarrow D_\alpha & \downarrow A_\alpha \\ \Lambda & \stackrel{b}{\longrightarrow} & H_T^*X \hookrightarrow F(W,Q) \end{array}$$

commutes, it suffices to show that the outer rectangle commutes (see Proposition 14.4.1). Let $b': \Lambda \to F(W,Q)$ be the composition of the horizontal maps.

Consider first the case $P = \lambda \in M$. We saw in section ? that the corresponding function $b'(\lambda) \in F(W,Q)$ takes w to $w(\lambda)$, and A_{α} takes this to the constant function

$$w \mapsto \frac{ws_{\alpha}(\lambda) - w(\lambda)}{w(\alpha)}$$
$$= \frac{w(s_{\alpha}(\lambda) - \lambda)}{w(\alpha)}$$
$$= -\frac{2(\lambda, \alpha)}{(\alpha, \alpha)} \frac{w(\alpha)}{w(\alpha)}$$
$$= -\frac{2(\lambda, \alpha)}{(\alpha, \alpha)}.$$

Now $\partial_{\alpha}(\lambda) = \frac{s_{\alpha}(\lambda) - \lambda}{\alpha} = -\frac{2(\lambda, \alpha)}{(\alpha, \alpha)}$ in $\mathbb{Z} = \Lambda^0$, and b' preserves integers, so the claim is true in this case.

Since all maps are additive, it suffices by induction on the degree of P to prove that the validity of the formula for $P_1 = \lambda \in M$ and P_2 implies it for $P_1 \cdot P_2$. Now

$$\partial_{\alpha}(P_1P_2) = \partial_{\alpha}(P_1) P_2 + s_{\alpha}(P_1) \partial_{\alpha}(P_2),$$

which follows from the formula $s_{\alpha}(P_1P_2) - P_1P_2 = (s_{\alpha}(P_1) - P_1)P_2 + s_{\alpha}(P_1)(s_{\alpha}(P_2) - P_2)$; and

$$A_{\alpha}(\psi_1\psi_2) = A_{\alpha}(\psi_1)\,\psi_2 + s_{\alpha}(\psi_1)\,A_{\alpha}(\psi_2),$$

which follows from the formula $(\psi_1\psi_2)(ws_\alpha) - (\psi_1\psi_2)(w) = (\psi_1(ws_\alpha) - \psi_1(w))\psi_2(w) + \psi_1(ws_\alpha)(\psi_2(ws_\alpha) - \psi_2(w))$. (Here W acts on F(W,Q) by $(v\psi)(w) = \psi(wv)$.)

The conclusion follows from the two displayed formulas, once we verify that b' respects the action of W. Since b' is a ring homomorphism, it suffices to verify this for $\lambda \in M$. Then $(v \cdot b'(\lambda))(w) = b'(\lambda)(wv) = (wv)(\lambda) =$ $w(v(\lambda)) = b'(v(\lambda))(w)$, so $v \cdot b'(\lambda) = b'(v(\lambda))$ as required. \Box

Remark 3.2. It follows that the operators D_{α} also satisfy a "Leibniz-type" formula: for $x_1, x_2 \in H_T^*X$,

$$D_{\alpha}(x_1x_2) = D_{\alpha}(x_1)x_2 + s_{\alpha}(x_1)D_{\alpha}(x_2),$$

where the action of W on H_T^*X is the one described in the following corollary.

Corollary 3.3. There is a unique left action of W on H_T^*X , preserving its grading and Λ -algebra structure, and satisfying

$$s_{\alpha} \cdot x = D_{\alpha}(x \cdot y(s_{\alpha})) - D_{\alpha}(x)y(s_{\alpha})$$

for all $x \in H_T^*X$ and simple roots α . This action satisfies and is determined by the formula

$$(v \cdot x)|_w = x|_{wv}$$

for all $v, w \in W$ and $x \in H_T^*X$.

Proof. This is the induced action of W on H_T^*X as a subalgebra of $F(W, \Lambda)$. If x' is the image of x in $F(W, \Lambda)$, and y' is the image of $y(s_\alpha)$, then

$$A_{\alpha}(x'y') = A_{\alpha}(x')y' + s_{\alpha}(x')A_{\alpha}(y')$$

Since $A_{\alpha}(y') = D_{\alpha}(y(s_{\alpha})) = 1$, this reads

$$s_{\alpha}(x') = A_{\alpha}(x'y') - A_{\alpha}(x')y'.$$

This implies the first displayed formula of the corollary, and proves that $H_T^*X \hookrightarrow F(W, \Lambda)$ id preserved by the action of W.

4. UNIQUENESS OF STRUCTURE CONSTANTS

Proposition 4.1. The coefficients p_{uv}^w in the formula $y(u) \cdot y(v) = \sum p_{uv}^w y(w)$ satisfy and are uniquely determined by three properties:

(1)
$$p_{uu}^u = \prod_{\beta \in u(R^-) \cap R^+} \beta;$$

§15 CHEVALLEY'S FORMULA, LINE BUNDLES, DUALITY

(2)
$$y(s_{\alpha})|_{u} - y(s_{\alpha})|_{v} p_{uv}^{u} = \sum_{v^{+}} c_{\alpha}(v, v^{+}) p_{uv^{+}}^{u};$$
 and

(3)
$$(y(s_{\alpha})|_{w} - y(s_{\alpha})|_{u})p_{uv}^{w} = \sum_{u^{+}} c_{\alpha}(u, u^{+}) p_{u^{+}v}^{w} - \sum_{w^{-}} c_{\alpha}(w^{-}, w) p_{uv}^{w^{-}},$$

the sums over u^+ with $\ell(u^+) = \ell(u) + 1$ and w^- with $\ell(w^-) = \ell(w) - 1$.

Proof. As in the type A case, (3) follows from associativity of the product $y(s_{\alpha}) \cdot y(u) \cdot y(v)$, and (2) follows from (3), commutativity, and the fact that $p_{uv}^w = 0$ if $\ell(u) > \ell(w)$ (in fact, unless $u \le w$ and $v \le w$).

The proof of the uniqueness statement is also the same as in the type A case, using Corollary 14.4.6.

5. DUALITY

Consider first the variety G/B^- . This has Schubert varieties $\overline{X}(w) = \overline{B^- \overline{p}(w)}$, where $\overline{p}(w) = n_w B^-/B^-$, and $\overline{Y}(w) = \overline{B \overline{p}(w)}$, with classes $\overline{x}(w) \in H^{2N-2\ell(w)}(G/B^-)$ and $\overline{y}(w) \in H^{2\ell(w)}(G/B^-)$, for $w \in W$. For clarity, in this section we will write $y(w)|_{p(v)}$, etc., in place of $y(w)|_v$. The entire discussion for G/B goes through for G/B^- , except that each root gets replaced by its negative. For example,

$$\overline{y}(w)|_{\overline{p}(w)} = \prod_{\beta \in w(R^-) \cap R^+} (-\beta) = (-1)^{\ell(w)} y(w)|_{p(w)}.$$

Let $\tau : \Lambda \to \Lambda$ be the graded involution that is multiplication by $(-1)^r$ on Sym^r M; τ is induced by the involution of M that takes each root to its negative.

Proposition 5.1. We have

(a)
$$\overline{y}(w)|_{\overline{p}(v)} = \tau(y(w)|_{p(v)});$$

(b) $\overline{y}(u) \cdot \overline{y}(v) = \sum \tau(p_{uv}^w) \overline{y}(w).$

Proof. Part (a), in this and the following propositions, follows from the functoriality of pullbacks. Part (b) follows from what we have just seen, or by applying Proposition 4.1.

There is a canonical G-equivariant isomorphism $\Phi:G/B\to G/B^-,$ defined by

$$\Phi(gB/B) = gn_0 B^-/B^-,$$

where $n_0 \in N(T)$ is any representative of w_0 . (This is the isomorphism obtained by identifying each of G/B and G/B^- with the space of Borel subgroups of G, since $gBg^{-1} = gn_0B^-(gn_0)^{-1}$.) Since $\Phi(p(ww_0)) = \overline{e}(w)$, we see that Φ maps $X(ww_0)$ to $\overline{Y}(w)$, and $Y(ww_0)$ to $\overline{X}(w)$. Thus $\Phi^*\overline{y}(w) =$ $x(ww_0)$, and $\Phi^*\overline{x}(w) = y(ww_0)$, so we have the following:

Proposition 5.2. (a) $x(w)|_{p(v)} = \overline{y}(ww_0)|_{\overline{p}(vw_0)} = \tau(y(ww_0)|_{p(vw_0)});$

(b) $x(uw_0) \cdot x(vw_0) = \sum \tau(p_{uv}^w) x(ww_0).$

Consider next the mapping $\Psi: G/B \to G/B$ given by left multiplication by a representative n_0 for w_0 ; i.e., $\Psi(gB/B) = n_0gB/B$. This map Ψ is equivariant with respect to the homomorphism $\psi: G \to G, \psi(g) = n_0gn_0^{-1}$. Since Ψ maps p(w) to $p(w_0w), p(w_0w)$ to p(w), and sends $X(w_0w)$ to Y(w), we have $\Psi^*y(w) = x(w_0w)$ and $\Psi^*(x(w)) = y(w_0w)$). Note that $\psi^*: \Lambda \to \Lambda$ is induced by the map from M to M that takes a weight λ to $w_0(\lambda)$; let

$$\tau_0 = \psi^* \colon \Lambda \to \Lambda$$

be this involution. Note that τ_0 also takes a product of positive weights to a product of negative weights. Applying the homomorphism Ψ^* , we find

Proposition 5.3. (a) $x(w_0w)|_{p(w_0v)} = \tau_0(y(w)|_{p(v)});$

(b) $x(w_0 u) \cdot x(w_0 v) = \sum \tau_0(p_{uv}^w) x(w_0 w).$

Finally, $\Phi \circ \Psi : G/B \to G/B^-$ is equivariant with respect to ψ , taking $Y(w_0 w w_0)$ to $X(w w_0)$ to $\overline{Y}(w)$, so we have

Proposition 5.4. (a) $y(w_0 w w_0)|_{p(w_0 v w_0)} = \tau_0 \tau(y(w)|_{p(v)});$

(b) $y(w_0 u w_0) \cdot y(w_0 v w_0) = \sum \tau_0 \tau(p_{uv}^w) y(w_0 w w_0).$

Note that $\tau_0 \tau = \tau \tau_0$ preserves products of positive roots.

References

- [Ara86] A. Arabia, "Cycles de Schubert et cohomologie équivariante de K/T," Invent. Math. 85 (1986), no. 1, 39–52.
- [Ber-Gel-Gel73] I. Bernstein, I. Gelfand, and S. Gelfand, "Schubert cells and cohomology of the spaces G/P," Russian Math. Surveys 28 (1973), 1–26.
- [Bil97] S. Billey, "Kostant polynomials and the cohomology ring for G/B," Duke Math. J. 96 (1999), no. 1, 205–224.
- [Bil-Lak00] S. Billey and V. Lakshmibai, Singular loci of Schubert varieties, Birkhäuser, 2000.
- [Bou81] N. Bourbaki, Groupes et Algèbres de Lie, Chp. IV-VI, Masson, Paris, 1981.
- [Bri98] M. Brion, "Equivariant cohomology and equivariant intersection theory," notes by Alvaro Rittatore, in *Representation theories and algebraic geometry (Montreal, PQ,* 1997), 1–37, Kluwer, 1998.
- [Bri00] M. Brion, "Poincaré duality and equivariant (co)homology," Michigan Math. J. 48 (2000), 77–92.
- [Che94] C. Chevalley, "Sur les décompositions cellulaires des espaces G/B," Proc. Sympos. Pure Math. 56 1–23, Amer. Math. Soc., Providence, 1994.
- [Dem74] M. Demazure, "Désingularisation des variétés de Schubert généralisées," Ann. Sci. cole Norm. Sup. (4) 7 (1974), 53–88.
- [Ful-Woo04] W. Fulton and C. Woodward, "On the quantum product of Schubert classes," J. Algebraic Geom. 13 (2004), 641–661.
- [Hum90] J. Humphreys, Reflection Groups and Coxeter Groups, Cambridge, 1990.
- [Kos-Kum86] B. Kostant and S. Kumar, "The nil Hecke ring and cohomology of G/P for a Kac-Moody group G," Adv. Math. **62** (1986), 187–237.
- [Kum02] S. Kumar, Kac-Moody groups, their flag varieties and representation theory, Birkhäuser, 2002

- [Ste93] J. Stembridge, "Coxeter-Yang-Baxter Equations?" unpublished notes, available at http://www.math.lsa.umich.edu/~jrs/papers/cybs.ps.gz.
- [Wil04] M. Willems, "Cohomologie et K-théorie équivariantes des variétés de Bott-Samelson et des variétés de drapeaux," Bull. Soc. Math. France 132 (2004), 569–589.